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1.

With reference to the Ayushman Bharat
Pradhan Mantri Jan Arogya Yojgna
(AB PM-JAY), consider the following
statements :
1. It offers a sum insured of Rs.5 lakh
per family for secondary care.
2. It does not provide insurance for
tertiary care.

3|t identifies the beneficiaries via the
latest Socio- Economic Caste Census

(SECC) data.
Which of the statements given above
is/are correct ?
(A) 1and 2 only
(B) 1and 3 only

(C) 2 and 3 only of
(D) 1,2and 3 %ﬂ,ﬁ

(E) Not attempted

In 1999, the was completed to
replace the aged Tajewala Barrage across
Yamuna river.

(A) Hathni Kund Barrage
(B) Indira Gandhi Canal
(C) Bhakranangal
(D) Hakra Canal
(E) Not attempted

Right/Left Hand Curve signs are used
where the direction of alignment

(A) does not change
(B) is straight

(C) changes

(D) none of the above

(E) Not attempted
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(A) Shaet 1 3R 2
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(D) 1,23 3
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4.

Who among the following was the Chief

Minigtgf of Haryana to declare complete
prohibition on alcohol ?

(A) Devilal

(B) Om Prakash Chautala
(C) Bansilal

(D) Bhupinder Singh Hooda
(E) Not attempted

The National Early Childhood Care and
Education Policy was formulated in the
year which became the first policy
exclusively for children in the early years.

(A) 2011 (B) 2013
(C) 2012 (D) 2014
(E) Not attempted

The Asiatic Lion was widely spread over
India earlier but now its natural habitat is
restricted only to the of Gujarat.

(A) Gir area

(B) Gulf of Khambhat
(C) Rann of Kutch
(D) None of the above
(E) Not attempted

British removed Haryana from North
Western province and merged it with

Punjab in

(R) 1857 g

-

14] L
(B) 1867 i
(C) 1858
(D) 1888

(E) Not attempted
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T
(C) 2012 [@'4[a (D) 2014
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MemoriallHaII of Karnal district of

8. Gandhi
nown as

Haryana was earlier k
(A) Georgeé Memorial Hall

(B) Indian Memorial Hall

(C) Victoria Memorial Hall

(D) Chhotu Ram Memorial Hall

(E) Not attempted

is an integrated women
launched

programme

FES——
empowennent
ndia in 2021-22 as an

by the Govi. of |
umbrella scheme for the s
and empowerment of women.

(A) Mission Naari
(B) Mission Shakti
(C) Mission Stree
(D) Mission Samman
(E) Not attempted

10. As per the School Bag Policy 2020, school

1.

shall offer Languages along with
Mathematics and Environmental Studies
in Classes Ill, IV and V.

(A) One (B) Three E] 3
i R oy

(E) Not attempted

Pilot project of Sanjeevani Pariyojana
begun at district of Haryana.

(A) Kurukshetra
(B) Jind

(C) Karnal

(D) Ambala

(E) Not attempted

afety, security

E.. L]
&

10.

11

p021-22 H WG FEHI ST I8
HIHY 2,

o 7 e e

gt & it 2020 % AR FETCH
i, v 3 v e | 3 qEtam

eI & Y-HIY e e
M1 =
(A) T

©) d
(E) roaiEd
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omnd 0 PoiyEE |
(A) TwEE

(B) Sfie

) FE

(D) 3FETET

(E) 3rsrmtea
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12.

13.

14,

15.

| T

which of the following factors limit froagom
in the designing of a school timg lablo ?

(A) Teacher availability
i

(B) Time
(C) Lack of public utilitios

(D) All of the above

Difficulties in acquiring knowledgo and
skills to the normal level expected of thoso
of the same age, especially because of
mental disability or cognitive disorder is
called

(E) Not attempted

(A) Cognitive difficulties
(B) Learning difficulties
(C) Attention difficulties
(D) None of these
(E) Not attempted

The National Yoga Olympiad is being
organised jointly by the Ministry of
Education and

(A) National Educational Technology
Forum (NETF)

(B) School Quality Assessment and
Accreditation Framework (SQAAF)

(C) National Schools Authority of India

(D) National Council of Educational
Research and Training (NCERT)

(E) Not attempted

As per Constitution of India, which of the

following Article ensures gender equality 7

(A) Article 16 (B) Article 15 (3)

(C) Article 15
(E) Not attempted

(D) Article 14

12

13.

14.

15
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W) T fereR SEHY™ 3R gfngo
yftyg (oA.6 3.3 4.)
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(A) 3T=A2 16 (B) 3mM=ae 15 (3)
(C) 3F=8g 15  (Pf 3 =ac 14

(E) atwnfEa :
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16.

17.

18.

19.

8
National Forest Policy of |n.dia. 198
envisages a goal of achieving t
of the geographical area of the country

under forest and tree cover.
(A) 33% (B) 25% )

(C) 55% (D) None of the above
(E) Not attempted

This river enters the Haryana State near
Pinjore

(A) Kumudwati . (B) Yamuna

(C) Drushavati (D) Ghaggar
(E) Not attempted

Counseling helps students in the following

ways except L
Sk
aE

(A) Resolving interpersonal problems and
fostering positive group behaviour

(B) Enhancing self-esteem

(C) Establishing unclear academic goals

(D) Working through personal problems
which cause emotional distress

(E) Not attempted

National Dairy Research Institute (NDRI)
Karnal evolved from the erstwhile '

(A) Gowt. Institute of Dairy Technology

(B) National Animal Husbandry
Organisation

(C) National Dairy Institute

(D) Imperial Institute for
and Dairying

(E) Not attempted

Animal HUSbandry

i

17.

18.

e

]

19.

jﬁwﬁﬁ% '

@,)330/6 (B) 25%

(C) 55% (D) ITITH X g gy

(E)

g & fioit 3 Freve ERET T2 3 gy

wA R _ E:

(A)W?ﬁ (E')tlyT

(C) gl (‘E’)W

(E) 3TvaTtyd

Frsuter, B Fefeiad Tt & w

! 8, e

(A)‘mﬁaﬁﬁmmwaﬁﬁ_aamaﬂz
Wmmﬁmm

(B) Tew-ww=yH # gfg <
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20.

21.

22,

23,

when learning or training in one situation
hinders, interferes or weaken the learning
in another situation is termed as

(A) Zero transfer
(B) Positive transfer
(C) Negative transfer
(D) Both (B) and (C)
(E) Not attempted

crossings should be used
by the pedestrians to cross road.

(A) Footpath
(B) Side road
(C) Zebra

(D) Main road
(E) Not attempted

Which of the following is the community
managed irrigation system in the Tapi
River basin in Maharashtra ?

(A) Phad

(B) Taanka

(C) Bawari

(D) None of the above
(E) Not attempted

Which of the following is not a principle of
school time table construction T

(A) Type of school E?_]'?i%
(B) Amount of time available i(E]
(C) Departmental regulations
(D) Age of the teacher
(E) Not attempted

oy &

20.

216

22,

23.

MT - TO7

s e feuf 3 it @ e & G
feufy % arferm # e, FEat A geer
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24.

25.

26.

27

Rash driving is punishable under

(A) Section 304 of IPC
(B) Section 279 of IPC
(C) Section 336 of IPC
(D) Section 258 of IPC
(E) Not attempted

When assessment is undertaken to assess
a learner’s progress in achieving defined
learning goals/learning outcomes, it is
considered as

(A) Comprehensive Assessment

(B) Continuous Assessment

(C) Both (A) and (B) o
(D) Competency Based Assessment
(E) Not attempted

In Haryana, Mazdoor Divas will be
celebrated on

(A) January 30

(B) April 14 Eﬁ%
(C) March 9 r.fm
(D) None of the above
(E) Not attempted

The annual net primary productivity of the
whole biosphere is approximately

(A) 170 billion tons (dry weight) of organic
matter

(B) 300 billion tons (dry weight) of organic
matter

(C) 100 billion tons (dry weight) of organic
matter

(D) None of the above
(E) Not attempted

24.

25.

MT - Toz

ez 3 et S ———
gt 2 |

() améiieh <1 T 304

(B) ﬁwﬁ%ﬂﬂ279

©) WﬁWSSS

D) mﬁmﬂ258

(E) ITwama

& wfefe dre & @ /dEd & R
# ya w@ 4w el o
e FO % f i fohaT S R,

m?:[g?ﬁ{énmm%’ K
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26.

27.
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(C) (A) 3R (B) T
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(A) SFedt 30
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) T et w5 300 farfera
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(56 )
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28.

29.

30.

31.

Rang Mahal of Ambala djgt

was erected during the reignlcot,in Haryana
(A) Akbar EIQJE]
(B) Alamgir %
(C) Shah Jahan

Nadir Shah

)
C)
(E) Not attempted

Children usually display separation anxiety
tillthe age of ‘

— whichisconsidered
as a part of healthy development.

(A) 3years

(B) 6 years

(C) Syears

(D) 8 years

(E) Not attempted

Which of the following Ministries of India
had been launched SeHAT Initiative ?

(A) Ministry of Defence

(B) Ministry of Rural Development

(C) Ministry of Family and Health Welfare
(D) Ministry of Panchayati Raj

(E) Not attempted

It refers to not only simply ‘seeing’ a thing,
but to the act of perceiving or observing

the stimulus

(A) Imitation

(B) Trial and error
(C) Observation
(D) Insight

(E) Not attempted

MT - TO7

28. gﬂumn%ammﬁ%ﬁmqﬁﬁm%

29.

30.

31.

YTEhTel § ST T AT 7
(A) =T

(B) TEHIIT

(€) VTETEl

(D) e 98 .
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T= AWAR T & HY TH
e & Taar yelfa wd & | =e
fhTE &1 T Tow T ST R |
L

(B) 6 T4
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(D) 8 T4
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SeHAT vgal I &I T8 oft ?

(A) &I T
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(©y TRER T W Hed HAd
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(A) el

(B) Tierr 3R Ffe

(€) ITaeR

B) IR

(E) rvafed
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32, Validity of learners licence |
(A) 1Year
(B) 30 days

(C) 6 months
(D) None of the above

(E) Not attempted

The Juvenile Justice (Care and Protection
of Children) Act was passed in the year

33.

(A) 2013
(B) 2015
(C) 2014
(D) 2016

oD
R

(E) Not attempted
34. What is the maximum age of a girl for
opening an account in Sukanya Samriddhi
Yojana ?
(A) 7 years
(C) 8years
(E) Not attempted

(B) 9 years
(D) 10 years

35. Which of the following is/are key aspect/s

of children’s play ?

(A) Wonder
(C) Joy
(E) Not attempted

(B) Choice
(D) All of the above

36. Who among the following receiveq the

Prestigious Cham ions of
o p the Earth Awarg

(A) Purnima Devi Burman
(B) Ravishankar Prasad
(C) Vandana Shiva
(D) None of the above
(E) Not attempteq

-10-

33.

34.

35.

36.
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3.

39.

41.

Mission isthe Nationa| prq
for Civil Services Capacity Buitdingramme

(A) Karmayogi (B) Atmanirbhar
(C) Jnanayogi (D) Nagarik Seva

(E) Not attempted

Nawab Fadai Khan, the architect of

Pinjore garden was the foster brother of
this Emperor

(A) Akbar
(C) Babar
(E) Not attempted

(B) Auraﬁgzeb
(D) Shah Jahan

How many Ramsar sites are present in
India ?

@ 75 EEE ) 6o
(C) 85 FeiilE] (D) None of the above
(E) Not attempted

Which of the following is/are example/s of
man-made ecosystems ?

(A) Crop fields

(B) Aquarium

(C) Both (A) and (B)
(D) None of the above
(E) Not attempted

In 2019, the developed a

Preschool Curriculum for three years of
preschool education along with Guidelines
for Preschool Education.

(A) NCERT (National Council of
Educational Research and Training)

(B) NCFW (National Curriculum Frame
Work) _

(C) NEP (National Education Policy)

(D) NECCE (National Early Child Care

Education)
(E) Not attempted

-11-
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(C) =Ta (P) IETEl
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)
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THHIM)

(E) 3rwarfa
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42. Information signs are given in

(A) Red circle (B) Black circle
(C) Redtriangle (D) Blue rectangle

(E) Not attempted

This poet from Haryana was honoured
with the Padma Bhushan Award in 2005
and Punjab Ratan Award in 2001

(A) Lakhmi Chand
(B) Sardar Anjum
(C) Altaf Haali

(D) Murarilal Sharma

(E) Not attempted

K. Malleshwari had won the bronze
medal at Sydney Olympics, 2000 in =
weightlifting category.

(A) 55kg (B) 69 kg

(C) 65 kg (D) 75kg

(E) Not attempted

45. Recently, Haryana Chief Ministér Manohar
Lal Khattar launched the ___ Scheme
with the objectives of providing financial
assistance to Antyodaya families in case
of death or disability.

(A) Dayalu (B) Atma bandhy
(C) Deen Bandhy (D) Sakha
(E) Not attempted

46. Indira Priyadarshini Vriksha Mitra Awards
are given by -
(A) Government of Karnataka

(B) Ministry of Environment ang F
or
Government of India Ssta of

(C) Union territory of Anda
Nicobar ' VA

(D) None of the above
(E) Not attempteg

-12.

i FRuS™ g |
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#) 55 kg (B) 69 kg
(C) 65kg (D) 75kg
(E) 3rranfea

45. T A A, whamn F gerh me o
A A st therd @)
T AT % wrt § ey e
ST FH F IRew b @y e D |
(A) g (B) 3TeH &Y
(C)?ﬂ'—?aig t9) w@l
(E) 3tvafig
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(A) e e
) W T 3 e st 1 A
(C) St s freram gt W
©) it 3 3 ¢ 7
(E) stvanfeg
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48.

49.

50.

in which of the following place cheetah
reintroduced in India ?

(A) Kuno National Park

() Silent Valley National Park

(C) Kudremukha National Park
OO
s
el

(D) None of the above
(E) Not attempted

In Haryana, Rajiv Gandhi Parivar Bima
Yojana was launched in

(A) 2000
(B) 2005
(C) 2003
(D) 2006
(E) Not attempted

Which among the following is an epic play
written by Emperor Harshavardhana ?

(A) Avanti Sundari Katha

(B) Meghaduta

(C) Kadambari

(D) Ratnavali

(E) Not attempted

Decomposers break down complex

organic matter into inorganic substances
like

(A) Nitrogen dioxide, water and nutrients
(B) Carbon dioxide, water and nutrients
(C) Carbon monoxide, water and nutrients
(D) None of the above

(E) Not attempted

-13-

47.

48.

49.

50.

MT - TO7

Frffiaa § @ fpa Tam T e W H
9. A 7

(A) Tl TEGH T -

(B) @Tseie Ieh T I

() FFaE T ITH
(D) 3T H F FHIE T

(E) Tt

g it it fta s EIEE]
A YE SRR |

(A) 2000

(B) 2005

(C) 2003

(D) 2006
(E) 3TSamtea

frfefad § 4 RH-¥1 GAE gHaUA g
fftad e HETHET TEE & 7

(A) ITad gElt sl

(B) Herqd

(C) el EHE

©) =

(E) 3R

HUETEH Wiee HIETTh Gerdl i 3
ST vl  ¥5d od &

() TEEA SIS, T 3 e
dcd

(B) T SATFAES, THT 3R T qcd

(C) TR AHaTaaTEs, THI 3R fveh de

(D) ST & | 1S T

(E) ITvafid
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51.

52.

53.

54.

55.

- 56.

(C) (=, w)

If A and B are Square matrices of same
order, then (A + B)(A-B)=

(A) A _ g2
(B) A°-B*+BA-AB
(C) A*-BA-AB-pB?
(D) A%+ B°-BA + AB
(E) Not attempted

A group consists of 4 girls’and 7 boys. The
number of ways a team of 5 members be
selected if the team has no girlsis

(A) 42 (B) 35 |
£€) 21 (D) None of tHese
(E) Not attempted

It 181=IB], then (3 +B)-(Z-B )=
(A) Positive (B} Zero

(C) Negative (D) None of these
(E) Not attempted

The variance of the first n natural numbers is

) 2
n® -1 n® +1
(W o (®)

12

nin®+1)

n(n? —1)
© Mo -1 12

12
(E) Not attempted

(D)

The perpendicular distance of the point
(6,5, 8) from y-axis is :
(AT Sunits  (B) 8 units [E1%00
(C) 6 units (D) 10 units éﬁfﬁﬁ
([E) Not attempted

The range of the function f(x) = x° + 2,
xeRis o
(A) (2, =) AB) [2, =)

(E) Not attempted

(D) None of these .

14-

51.

52.

53.

54.

55.

56.

MT - To7

afe A 3R B Tam Hif2 & =i 3z #, &
(A+B)(A-B) =

(A) A%-B?

(B) A%—B? 4 BA—AB gj%%

(C) A>~BA-AB—B2 fehld]

(D) A+ B?-BA + AB
(E) 3rrnfyq
U B8 1 4 Tefri ai 7 o 3 | gfe R

awﬁaﬁ%asaﬁqﬁ,ﬁrsazm‘iﬁ@'&n
1 TG fohe 7% & R s w2 7

(A) 42 (B) 35
(C) 21 (D) 39 @ ¥ 7
(E) 3T9amtéa
afz |a|=|b|, @ @+B)-(3-B)=
(A) U (B) =
(C) =HUlicH (D) 3 § =13 7
(E) 3w
9Yq n WThfdeh TEEAT 1 fa=wr 2
(A) n -1 (B) n® +1

12 12

2 -1 n(n® +1)
© m112—)' ®) =33
(E) T9anfia
y-40 & fag (6, 5, 8) A o gt 2
(A) 5%H1E (B) 83rE
(C) 631 (D) 103%TE
(E) rwfad

BT f(x) = x° + 2, X R I TRER 2

(A) (2, ) (B) [2, »)

(©) (-, ) (D) ¥ & #r§ e
i
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68

59.

60.

61.

s

ue of f 5
The val —“éS]n Xdx is .

o 53 (B) n

© 0 (D) 2r

E) Not attempted
1-COSX _

>rh—*° X2

M 1 12) %

©) 0 (D) ‘Ji;

E) Not attempted

A card is selected randomly from a pack

of 52 cards. The probability that the card
s an Me IS

® % EI?E!‘B) %5

(C) —;- E(D) None of these
(E) Not attempted

The locus represented by xy +yz=0is
(A) a pair of_perpendipljlar lines
(B8] a pair of parallel planes

(C) a pair of parallel lines

(D) a pair of perpendicular planes
(E) Not attempted

The number of possible outcomes Wi
fair coin is tossed 6 timesis =

(A) 2°

(B) 6

(C) 6°

(D) 12

(E) Not attempted

Downloadeé

MT - T07

7

7. _r sin® x dx @1 T B

=
/e

(A) 5% (B) =
(€) o (D) 2r
(E) st

1-cosX

58, JIm T -

(A) 1 (B) %
(C) 0 (D) zlt
(E) It

59, 52@%@%&?%%@8@%

T @ R laatﬁn_/_@eﬁﬁ
mﬁ‘lw%

® 1 ® 53
© i (D) ST & H1S &
?%E 2 (E) awrrf%m

GOExy+yz omﬁmﬂmﬁgﬂﬂ%
(A) TeeEa WIS H T ITH
(B) HHIER WHA@! 1 Tsh IH
(C) THTGR T@Iatl 1 TH IH
(D) Sieea Al U T
(E) arsrrtde

o
-t

| et @Wﬁaﬂaﬁswmm

2, @ gwa afom H sE %
(B) 6 4 3
©) & W

ialk "'W.cclchapter.COm




62.

63.

64. The principal solutions of the trigonometric

65.

66.

If | a x B’lrl a *B’I,thenlheangle between

3 and B is

n
B) 4
(D)

(A) n

A

C) 2n
(C) 3
(E) Not attempted

The area of the region bounded by
x —4y Y =2,y =4 and the y-axis in the
quadrant is (in sq. units)

—(4—J§)
(©) (8 2v2)

(D) None of these
(E) Not attempted

|

@)
®) 2

equation cosec 0=- 2 are

@A) 71: 111: (B) L Fﬂ:
511: In

© B B

(E) Not attempted

(D) None of these

Family y = Ax + A® of curves is represented
by the differential equation of degree
EQ‘

A) 1
(C) 2 pi=/)
(E) Not attempted }' §

> (2.
& (7
(A) 1
©) 7

(E) Not attempted |

(D)¥Non ﬁ’of these

-16-

62.

63.

EFiE

Ei

64.

65.

66.

MT - To,

afg |axB|=|a-B|,d a3MB 4
%1 HIT B

(A) n B) 2
(©) 2¢ (D) 3
(E) aAvnfira

e wgafa o 3P =4y, y =2,y =43h
y-gft & fort &1 =1 aerea 2 (et o 5

(A 2(4-2)
32

B) 32
©) #(8-2v2)
(D) ¥ & i &
(E) 3rsntér

Preprorfircfia wHishoT cosec 0= —2F 7
7 8

A) 7:: 111: B) %X
(©) -5675,% (D) 378 | %I T
(E) 39Tt
Tﬁﬁ%y:Ax+A3%ﬁ HT ¢
ATHS FHIEHIOT GRT ST S 2 |
(A) 1 (B) 3
(©) 2 (D) S8 & I3 T
(E) STsrmfda

=42. 3. |
g;ﬂmr-(?|+?1—gk)=1ﬁ
(A) 1 (B) ;
(C) 7 (D) 37 ¥ HE T
(E) 3w
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i S\in_1¥+sin*1y___

68

69-

70.

71

72,

(A) (-4,0)

I
5 then the value of

cos'?‘X+ch‘~1y il
I
® 2 (8) 0
(R (D) 2z
(E) Not attempted 3
The minimum value of 4
: ! 4 -
(A) 2 (B)—iti_}(.x eR)is

(E) Not attempted
LetA={XYy,2},B={1,2 " -
relations from A to B is" }. The'niumber of |
@5 ®) 16

(C) 64 D) 6

(E) Not attempted

‘1[ +). S
0e“+e"" |
(A) % EI?-% (B) tan™'2

A e
(D) tan"e-4

(©) tan”'e"

(E) Not attempted
The probability that a student will pass his
examination is 0.73, the probability of the
student getting seat abroad is 0.13 and

the probability that he will pass of get a
seat abroad is 0.80, then the probability of

he passing and getting seat abroad i

(A) 0.06 ®) 0
(C) 0.6 (D) None of these

(E) Not attempted

SRl
The co-ordinates of focus of the 5_9;2!999!3 i
) (0,-4)
©) .0 () (0,4)
(E) Not attempted

17

MT - TO7
67. qﬁ Sin-1 X +Sin_1 y= 1 ‘ fh
cos™' x +cos”'y H ﬁ?m 3
S ) % ‘
Py 2 (B) 0
(C) n (D) 2%
(E) arsnfia 3
68. 4"+ 4" (x € R) FI T AF 2
(A) 2 B) 1 |
(C) 4 (D) 0
(E) aroranferd
69. WA chfi A=(xy,z},B={1,2} | AH B
T el GE & ]
(A) 32 (B) 16
(C) 64 (D) 6
(E)
1 dx
s -‘[e" e
(A) % (B) tan™'2
(C) tan”'e (D) tan"'e-7
(E) rwaméd
7. @ﬁmﬁﬁqﬂm:ﬁﬁuﬁ@%aﬁmfﬁm
0.73 2, ferameff 1 fagw # Hie 9 B
£ T 0.13 8 3R T =<fiol B8R T
R i e ST 6 a1 080T,
< 3efl & afie foew # Hie W=
il 2
(A) 0.06 ®0
(C) 06 (D) T A HR T
(E) I
72, @ xz-—16yawhm%ﬁisﬁ%
(A) (4,0 (B) (0,—4)
() (4,0) (D) (0,4)
(E) Fowted =
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73. J.x(x i 1)

74.

75.

76.

tA) logl|x|— log(x +1)+c

1 2
®) —log[x]+2 log(x“ +1)+¢

(Z) log|x|+ % log(x? +1)+¢

(D) None of these
(E) Not attempted

If A is a matrix of order 3 x 3, |[A| = 5, then
[3A] =

(A) 15 (8) 135

(C) 45 (D) None of these

(E) Not attempted

If [1-if =2~ (wherel-J: ) the number

‘of non-zero in tegral solutions is
(A) 1 (B) 4

(C) 2 (D) O

(E) Not attempted

If the sum of n terms of an A.P. is
0= 3n - 2n then the common dlfference

bf the A.P.is

(=5 [E] .
(A) 3 ‘.EEI'{B) 6
(C) 2 (D) 4

(E) Not attempted

( )+—+y 9is ,
dx

(A) 2 (B) 3

() 1

(E) Not attempted

73.

74.

75.

76.

wmis — TQ

dx _ _
I x(x% +1)
(A) log|x|-
(B) —Iog[x[+% log(x® +1)+¢

Llog(x® +1)+c

1 2
(C) loglx]+-§ log(x* +1)+¢C

(D) i B hig TEl

(E) ISt E':Hg

HﬁA,SxSHﬁﬁﬁ@ﬂlaﬁg,
|A] = 5, @1 [3A] =

(A) 15 (B) 135

(C) 45 (D) 374 4 F13 T
(E) Twartéd

afy [1-i* =2 (Sefi=v=1), & Em
quifeh gl h! HE&AT &

(A) 1 (B) 4

(C) 2 (D) O

(E) JT9amtea

Ife ush qHIE Avff & n 9G HT I

S,=3n +2n® 8, T FHIK Joft =1
IS IR B

(A) 3 (B) 6
(C) 2 (D) 4
(E) o =
d 2+ 3
HATHA FHIHT (H)z()'--'i"d_"'y:g H
wife & &
(A) 2
(C) 1
(E) rvafm




f

B1.

The value of tan {SB(:"‘ "
s .
(A) 5 {B) 13

(©) 11 D
(E) Not attempteq ©) 15

L o
ol"’(cosecﬂ 3)

f2<3x—-4 < 5, then X liog in the i
erva|
A 23] ®) (2, 9 A
@) [21 3] {D) [- 3. & 2]

(E) Not attempteq

1,244,816, 2" is
& a4 E “- n
N Ta. ks (B) ﬁ_2n+1.
oN+1_ EA[E]
©) n+1 1 (D) -2—2-:-1
n+1

(E) Not attempteq

The total possible matrices of order 3 x 3
with each entry 2 or 0 ig

(A) 9 (B) 81
C) 27 ) 512
(E) Not attempted

The number of different 4 digit numbers

that can be formed using digits 2 2 3,4 and\
|

78,

79.

81.

80.

MT - T07

tan’(sec™! 2) + cot’(cosac™ 3) 1 U B
(A) 5 (B) 13
(C) 11 (DY 15
(E) stormifera
4R 223x -4 <5, « AATTA
i A 2
(A) [-2, 3] (B) (2,3)
(C) [2,3) (D) -3,-2
(E) srrafer
“TFel 1, 2, 4, B 16 ...... 2" 1 FFAdT
ey B
(A) 2=t Lo
n
o) 2M+1_4 g
(©) n+1 (D) n+1
(E) 3rvmanfyq
mwﬁﬁzwoéﬁwsxsﬁﬁ%ﬁ
U TR &
(A) 9 (B) 81
(C) 27 (D) 512
(E) Tyaiyq

82. 2,3,4 3R 7 3 T WM FW T & e

ﬁaﬁwmaﬁmmm% ?

7 without repetition is ) et (A) 24 B) 2°
1) 24 B2 ©) 4 (D) T & = T
) 4* (D) None of these o f _
(E) Not attempted ...\r"" () :
In a circle of diameter 40 cm, thelength of | g3, =T 40 cm Tt T e 1 SIEUEHESE
afchord is ﬁo cm. The length of. mlnor arc 20 cm R | Sfen % oY = 6 Ao R
of the chord is 201!:
(A) 107 cm (B) Zgn cn{-i L (A) 10mcm El (B) cm
C) & cm D) None oftﬁasa (C) § cm lE!.aE](D) gﬁ%ﬁiqﬁ :
2 o (E) Jrsrntda
(E) Not attempted
S qo-
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Bal b

84. Angle between the vectors i — | and

85.

86.

87.

88.

89.

j—kis
() 3 B) -%
© ®) 5z

(E) Not attempted

The mtegéatmg factor of the differential
equation —!-—Sycotx sin2x is El

dx
(B) sin®k Eln:[il

(A) cosec x
(C) cosec® (D) cosec®

(E) Not attempted

%

f 0052 X d_x =

0

(A) 7 ®) 5
(C) 0 (D) 1

(E) Not attempted

If|x+3/>1 0, then

(A) x e(~13, 7]

{B) X &(—e, —=13] U [7, )
(C) xe(~13,7)
M) xe [-13, 7]
(E) Not aftempied
ThesetA={x:xe FI f

interval is _
(A) [-4, 6] (B) (-4,6)
(D) [-4,6)

) (-4,6].
(E) Not attempted

; X X
If the median of 5 3

(where x > 0) is 6, then -

(B) 12

(A) 6 - ,
(D) -

(C) 18 )
(E) Not attempted

Downloaded from www.cclchapter.com

85.

86.

I

8a. wfedl -]
A 3 ® -3
© ©
(E) 3rsntaa

e G %—SYOOH =S‘i."2x ﬁs.

(A) cosec X (B) sin’x
(C) cosec® (D) cosec’x
(E) Irvanfad
El i
_[ cos? x dx = i'_i]erl y
(A) 4 B 3
(E) rsanféa

87. IR |x+3| =10,

(A) X €(~13, 7]

(B) X & (=0, =13] U [7, =)
- (C) xe(-13,7)

(D) xe [-13,7]

(A) [4.6]
(C) (-4,6]



a0 If "Cy2 = "Cq, then n=

-

02.

93.

94.

95.

) A

(A) # (B) 24
(C) 20 (D) N
(€) Not attempteg ONe of thegg
121=10,1B]=2 gng 2 o
- (a. b) =12
|'5-<b|= _ » then
(A) 1= ®) 16
(C) 14 (D) 18
(E) Not attempteq
P(2, 3,—=1) liesin
(A) IV octant (B) VI octant
(C) V octant

(D) None of these
(E) Not attempted

If A and B are Symmetric matrices of same '
order, then AB'-BA’ is a

(A) Skew-symmetric matrix
(B) Symmetric matrix v
(C) Null matrix %fil
(D) Identity matrix . R

(E) Not attempted

If A and B are any 2 events such that
P(A)=1,PB)=F and PANB)=7,

If matnx A= [a||]2x2
then A® =

(A) I

o1.

92.

93.

(E) Not attempted

94.

q%

DRAD

90. 'llfa nCw = "Cﬂ‘ ?h n=

(A) 4 (B) 24
(C) 20 (D) Z i T
(E) sronfird

afe |a|=10,|b|=2 3N (a-b)=12,d

|3><B|::

(A) 12 (B) 16

(C) 14 (D) 18

(E) Itwnféa

P@2,3,-1)____ HZ|I

(A) IV 3Te2T™ (B) VI 37T

(C) V 3T=ziW (D) T H I3 TE
(E) It

e A 3 B T HIfE 3 T ATE 7,
@ AB'-BA' B

(A) T -—gmfia 3megg

(B) Tmftd 3@

(C) A AR

(D) e ITeIE

(E) Ivantad

afe A 3R Baam"'wwrtéﬁﬁ

P(A) =1, PB)=7 3K P(ANB) =1,

0(56)-

A 2 (B) 0
© 15 (D)
(E) ITtéa |
1, AQiz]
?EIEEA_[aiilmW 3= {0’ -
(A) | - (®)0
(C) A (D) -A
) o




96. The magnitude of the vector

6i+2j+3K is

(A) 11 ®) 7 -
C) V48 D) /50 B ot
(C) (D) [ﬂ%é

(E) Not attempted

97. In a group of 65 people, 40 like cricket,
10 like both cricket and tennis. The number
of people in the group who like tennis but
not cricket is
(A) 25
(C) 15

(E) Not attempted

(B) 10
(D) None of these

98. [e*(cosx-sinx) dx =
(A) e*sinx+c
{B8) e*cosx+c
(©) 2¢"sinx + ¢
(D) None of these
(E) Not attempted

89. Three vertices of a parallelogram ABCD
are A(3,-1,2),B(1,2,~4)and C(-1, 1, 2).
The co-ordinates of the 4" vertex are

) (1,-2,8) (B) (1,2,-_3)
(C) (1,0, 8) (D) (1,2,8)
(E) Not attempted

100. IfP(n):2n<nl, ne N, then for
alln2> :
(A) 2 (B) 1
€) 3 D) 4

(E) Not attempted

96.

97.

98.

99.

100.

MT - Tq

afew 61+ 2]+ 3k =t afermr 3

(A) 11 B) 7

(C) 48 (D) 50

(E) 3TsrRriéa
eswﬁlﬁﬁiﬁwﬁmaﬁtﬁzqﬁ

2, 10 e 3i 2w @i weg ¥ |y
we & e il A 2Pm v 2 A
fohohe uHe TRl & 7

(A) 25 (B) 10_
(C) 15 @23 (D) T & i T
(E) Agfea mead!

El5[E
[e*(cosx —sinx) dx =
(A) €*sinx+c
(B) e*cosx+c
(C) 2e*sinx +c¢

(D) 11 & I I
(E) Tuamiya

HAIG SqHS ABCD % o 1 A@3,-1,2)
B(1,2,-4) 3R C(-1,1,2) & | NI s 3
fdzres &

A (1.-2,8)  (B) (1,2,-8)
€) (1,08 (D) (1,2, 8)
(E) s

afe P(n): 2n <
n> %
(A) 2
(C) 3

P(n) &+t
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